
Elevate Actuator and Mounting Hardware
After 1/3/08 (CGE/CGTE/CGTRE) - TDX SP/SP-GT/SR



Elevate Actuator and Mounting Hardware
After 1/3/08 (CGE/CGTE/CGTRE) - TDX SP/SP-GT/SR

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1149779 Actuator Motor Assembly, Elevate, For Narrow
Battery Box 

1 11
1149780 Actuator Motor Assembly, Elevate, For Wide Battery

Box 
1 11 C

1149760 Elevate Support Bracket Assembly w/ Proximity
Switch Sensor 

1 12 A
1122586 Sensor, Proximity Switch (30 1/4" L) 1 13

1027704-NLA NLA - Screw, Phillips Pan Head (#4-40 x 3/8") 1 24
1011011-NLA NLA - Washer, Plain (1/8 x 5/16 x 1/32") 1 25

1028769 Locknut (5/16-18) 1 46
1039860 Screw, Hex Head w/ Patch  (5/16-18 x 3/4") 1 67
1149761 Bracket, Elevate Actuator Mounting 1 18

1146551-NLA NLA - Screw, Round Head Square Neck (5/16-18 x
3/4")

1 29
1149781 Kit, Actuator Switch Sensor and Hardware 1 110 B

NLA - Bracket, Actuator Switch Sensor Mounting 1 111
Sensor, Actuator Switch 1 112
NLA - Washer, Plain (1/8 x 5/16 x 1/32") 1 213
NLA - Screw, Phillips Pan Head (#4-40 x 3/8") 1 214

1070398-NLA NLA - Screw, Hex Head (5/16-18 x 1-1/2") 1 215
1028769 Locknut (5/16-18) 1 216

A - Includes the Elevate Support Bracket and items 3-5  
B - Includes items 11-14  
C - Part Number 1149780 is used for TDX SR and TDX SP-MCG with 24TRY.  

NOTE:

 


